.
QE—

Q54 Causes of zero hatchability value are ...........

_ for 7 days. °C & above 50 °C  °C and 39.7 °C .
Q55 . The best egg position during the incubation for high hatchability value is .....
a. Small end up b. Large end up ¢. Horizontal d. Vertical position
. position »
Q56 The goats are difficult to hand-feed because
a. They are able to wonder  b. They are able  ¢. Freedom of d. All
to feed on movement
standard
agricultural crops
Q57 Drying off dairy cow by .................. ' _
a. Increase the number of  b. Increase the ¢. Milking every d. Non stripping of
milking production . days udder and remain
. ration. milk in udder
Q58 . The length of active life of bulls is ....... years :
a.2-6 b. 5-7 c.5-16 d. 10-16
Q59 Categories of beef cattle are ............
a. Baby beeves b. Prime bullocks ¢. Cows, old d. All
bullock
Q60 - Body conformation of Beef cattle should be ............
a. The head is broad and b. Increase the ¢. The neck is d. All
long, with large muffle depth of body long, enlarge '
toward the rear symmetrically
and floor toward the
; shoulder
Q61 Purposes of cattle is ............ : i .
a. Beef production b. Milk ¢. Work, manure d. All
production and hides
production
Q62 The fatty tail of ............ sheep ending with cob-like part
' a. Ossimi b. Rahmani c. Fallahi d. None
Q63 The age of puberty of buffaloes in both sex is ....... months
a.3-4 b. 4-5 C.56 G 8-12
Qo4 The milk duration in goat may reach .......... months for one season.
a.9 b. 10 c. 11 d. 12
Q65 The buck is capable fo service up to ............... doe in a,geasoi.
a. 75 . b. 100 s &350 o d. 200
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Q48 The buck may make an effective service when it [ — ARV ENES Giaeas months old
a2 - b. 4 c.5 d6
Q49 The average numbers of kids born at one parturition is two kids in .......... e viswas
a. British Saanen & b. Indian Surti & . Angora & d. Kashmeri &
Egyptian baladi Zaraiby Badawi Egyptian baladi
Q50 Foreign breeds of sheep divide according to ................. :
. a. Type of wool and b. Colour of wool  ¢. Weight and d. All
mutton production height
Q51 The best 0,% for high hatchability value during incubation .........
a.30% - b.21% c. 40% ' d. 50%
Q52 ' The best Co, % for high hatchability value during incubation is .........
v a. 5% ’ b. 2% ¢.0.5% d. 10%
Q53 Optimum temperature for egg incubation is ...........
a. Temperature of 40 °C b. Temperature ¢. Temperature of  d. All
and 60% of RH. 0f37.5-37.8°C 60 °C and 40% of

and 75% of RH ~ RH

- a. Storage of egg at 40 °C.  b. Storage of egg  c. Incubation of d. Incubation of
g at0°Cand 32°C  eggs between 30 egg between 35.6

. ~ |




